20255 (=FF) EREBEHEBATHABEER

FiR Bt A B8 475 Rt T ekl LG FE
] ) 725 5 i it B A 10kV 814 5+ £& 35KV %k HE A% FL i 5542.6 1132.23
] ) 725 T it v A ) 10kV/545 3 7§ 25 110k VMl 7 AR Hi i 10911.9 2913.82
] ) 25 S i it v A 7 10kV 8461k 3 £k 110kV b AR H ik 5542.6 3526.48
[ W 2 1 A N 7 10kV 8854 /7 £k 35kV 75 HE A% L i 5542.6 813.36
] ) 15 S 7 it 1 A ) 10kV564 i - 2% 110Kk VM 7 AR Ha, il 5542.6 1228.18
] ) 5 S i it F A 7 10kV5323 4 11 =] 110k V = P A% L 6529.8 2779.34
] ) 725 1 4t v 2 ) 10kV 850} #v £k 110kV b H A2 H 4156.9 505.52
] ) 725 ST 7 0 H 2 ] 10kV864 K 111 2% 110KV K 11132 Fi ik 5542.6 1754.38
] ) 75 S i it B A 10kv838t 7 £k 110kV b H A2 H 10911.9 177.42
] ) 15 T it v 2 ) 10kV855 7 £k 35kV - H2 A% L 3 10911.9 611.31
] X 25 1 T At H 2 = 10kV 860X [ 2k 110k VX = AF H 5542.6 2345.08
] ) 125 5 7 4t 2 10kV863 [rl 111 £ 35KV & R AL L i 10911.9 107.42
] ) 125 T it v A ) 10kV865 {5 J £ 2% 110KV K 111 3% Hi il 5542.6 1118.63
] ) 125 3 17 4t 2 10kV543 7R B2k 35KV 7R & A% L i 4156.9 138.02
] ) 725 1 7 4 v A ) 10kV524 1] e 2k 110KV 7=~ 22 F il 4156.9 1667.52
] ) 725 S 7 0L H A ] 10kV577 7+ 4+ 2% 35KV ¥r] 75 A% F, il 10911.9 999.92
] ) 725 S i it B A 10kV 854 F ji] £k 35kV F HE 2% L 7967.4 683.62
] ) 15 T it v 2 ) 10kV/576 1 JE £k 35KV ¥ 7 A% Ll 5542.6 313.68
] %) 125 7 4t 2 10kV 88211 15 £k 110KV V7] A% H 3 5542.6 58.48
] ) 725 S i it E A 10kV865 /)Ml £k 35KV &k 7 A% L i 5542.6 784.38
] ) 125 T it v 2 ) 10kV893 [k [X £k 35KV ¥ FE A% Ll 5542.6 840.43
] ) 5 S i it P A 10kV 844 3 4k £k 110kV b AR H ik 5542.6 1303.18
] 7 2 5 1 AL H N 7 10kVv887 L™ £k 35kV 75 HE A% L3 5542.6 771.18
] 9 5 T AL N 10kV573 55 2= 2 35KV ¥ 75 A% F il 5542.6 554.88
] ) 725 S i it P A 10kV546 4= Ji Al 28 35KV A< Ji A% F il 5542.6 554,98
] ) 725 5T 7 L H A ] 10kV 854 F{ A+ £& 110KV K 111 3% Hi 5542.6 550.28
] WX 25 1 T At H 2 7 10kV556 4 V. 28 110k Vi T AR H 4156.9 2650.79
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FE] ) 125 5 1 4t 2 ) 10kV530 K 111 Tk 2k 110k V = - A2 H 5542.6 1063.38
] ) 725 T it v A ) 10kV861=F 1.4k 110k VX A% Hi i 6581.8 138.94
] ) 15 A7 4t 2 10kV555%) " 2k 110kV i FEAL B 7326.6 1142.98
[ W 2 1 A N 7 10kV 5747 F 2 35KV ] 75 A% FL 3 5542.6 1433.58
] ) 725 S 7 0 1 2 ] 10kV 8275 2% 35KV # 5% AR Ll 5542.6 1158.08
] ) 5 S i it F A 7 10kV890 N 2k 35KV 75 FE A% il 4156.9 429.12
] ) 725 1 4t v 2 ) 10kV567 A 1H £k 110k Vil 7 AR He i 10911.9 1737.42
] ) 725 ST 7 0 H 2 ] 10kV 815 Jii +f 2% 35KV [ A FEL 4156.9 1630.02
] ) 75 S i it B A 10kV'536 & # £k 110k V = - A2 L 10911.9 2001.89
] ) 15 T it v 2 ) 10kV565 F} 7 £k 110k VMl 7 AR HA i 5542.6 1587.98
] ) 725 S i it F A 7 10kVS68 i 4 £k 110k Vi F= AR H 5542.6 1124.68
] ) 125 5 7 4t 2 10kV537 1= VG £ 110k V = - A2 L 10911.9 1739.22
] ) 125 T it v A ) 10kV559 & 7t 11 [l 2k 110KV 3t 52 A% F, il 7326.6 370.88
] ) 125 3 17 4t 2 10k V866 = A £k 35kV &k F A% L 4156.9 355.02
] ) 725 51 7 0L H A ] 10kV8233& 1112k 35KV 1 2% AR H il 3810.5 259.8
] ) 725 S 7 0L H A ] 10kV837 4R 2L 110k Vb FE A2 F il 4572.6 1087.18
] ) 125 5 7 4t 2 10kV856 1L i+F £ 35kV AR HL 10911.9 323.52
] ) 15 T it v 2 ) 10kV898 = i £k 35KV ik AR L 4156.9 217.24
] %) 125 7 4t 2 10kV527 357 1 [A] 110KV 5 748 H i 5542.6 3759.38
] ) 725 S i it E A 10kv835 Tk 2k 110kV b H A2 Hi 5542.6 290.18
] ) 125 T it v 2 ) 10kV836 = Hi £k 110k Vb FE A2 L 5542.6 1397.78
] ) 125 3 1 4t 2 10kV571 3 b2k 110kV I FE AL L 3 7326.6 1380.38
] 7 2 5 1 AL H N 7 10k V849 7R A T £& 110kV b AR HL 3 5542.6 1638.38
] ) 15 7 it 1 A ) 10kV858 11 A £k 35kV I =A% HL 3 7967.4 1000.02
] ) 725 S i it P A 10kV 830 4% £ 35KV 1 2% AR H il 10911.9 102.82
] ) 725 5T 7 L H A ] 10kV/525 /& #1125 110KV 5~ A% Hi il 7326.6 842.98
] ) 125 3 7 4t 2 10kV 546 fH i £ 110k Vi T AR H 3550.7 1957.76
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T | R S T A R 10kV545 7% Ji Tk 2k 35KV 7R Ji AR L 5542.6 328.78
AR | R A e A ] 10kV5807 1™ 1 [A] 35KV ] P4 AR HL 10911.9 983.32
w7 | R A A 10kV/529 £ 15 B I 2k 110KV =132 F il 5542.6 2226.43
g | R S T A A 10kV558 FEE 1 [A] 110KV KU A% H, i 5542.6 1591.98
W | R T i A 10kV518 B4k 2k 110KV B A A% F v 4156.9 1470.62
T T | ) S T E A 10kV516 Eh A 2k 110kV E 4+ A8 Fi vl 4156.9 2110.72
TR | S T AL N 10kV/894 %2 Vi £ 35KV i AR HL vk 4156.9 422.12
T | R S T A 10kV/531 1 1 2% 110KV ;138 Hi il 10911.9 2626.22
g7 | R S A 10kV863 f FE I 2k 110KV K 11722 Ha, 3 4156.9 0.02
kT | R T T A A 10kV544 75 & 2k 35kV A< i AR HL vk 5542.6 0
T | R T A A 10kV843 % - 2k 110KV b FE 38 Fi il 4156.9 0
T | R S T A R 10kV552 - X 2k 110kV 7 111 22 F il 10911.9 0
T | R T A A 10kV886 % 1k £k 35KV 75 AR HL i 5542.6 0
AT | T A E A 10kV561 L 3F 2k 110k VM £ 38 Fi b 5542.6 0
g T | R S T E A 10kV825 HI 5K H 2k 35kV A% 5% AL HEL i 5542.6 0
R | R T At A 10kV834b 4k £k 110kV b FE 38 F il 5542.6 0
I | R T A A 10kV862 i 4 £k 110KV K 11122 Hi il 10911.9 0
g | R ST T A A 10kV853 ¥ R 2k 110KV K 111 A% Ha 3l 4156.9 0
i | R T A A 10kV895 z it Tk 2k 35KV i FE A2 L il 5542.6 0
AT | R S T A 10kv845 1L 7R 2k 110KkV b £ 22 H v 6235.4 0
WA | R A A A 10kV558JL 4% £k 110k VM 38 i, il 10911.9 0
g7 | R S A A 10kV558 A 5 2k 110kV 7 11138 i il 10911.9 0
g | R ST T A A 10kV859 7Kk 3% Tk £k 110KV X FE A% Hi, il 5542.6 0
g | R T T A A 10kV 5281|242k 110KV T~ 3% Fi v 5542.6 0
g | R T A A 10kV843 7\ frel £ 110KV K 11122 H il 4572.6 0
W T | R T A A A 10kV553 7 4% 2% 110kV 7 111 32 i 10911.9 0
WA | R T A A 10kV 863X 17 £k 110KV X £ 38 Fi il 5542.6 0
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PR | g e A 5.4 7 Rt T ekl LG FE
455 11 o 12 S T A A 10kV561 ¥F JE 2k 110KV 04 25 Ha, v 5542.6 0
Sl ES G v o R =S| 10kv 5541k 4 2% 110KV 7 111 32 Ha, bl 6928.2 0
T | T A A 10kv547 = 78 1 112k 110KV A% i, il 7326.6 0

R A IS SR A 10kV559 FEE 11 [7] 110KV % U A% FE v 4156.9 0
AT | ) ST T H A 10kV568 K AT 2k 110KV KU 38 H, il 5542.6 0
31 77 mgiﬁk%gﬁ%* 10kV 838 1 K 72k 110KV 5% 75 32 Fi il 4763.1 1955.28
355 i M%w%mﬁ%* 10kV 828+ 7 11 [H] 110KV 5% 5 22 H, b 3897.1 333.68
335, 77 M%ﬁ%gﬁ%* 10kV 848 4> il i 28 110KV H £ 7% Hi, ¥ 9578.2 1868.96
35 T M%W%Wﬁwp 10kV 53844 1 Mk 2k 110KV = T A2 F, il 9560.9 286.02
2335 1 W%W?g{t RS 10kv831 i 11 =] 110KV 5 P4 A2 i il 9560.9 1064.12
335 i M%ﬁ%gﬁﬁtp 10kV523 T %54k 110KV = T A2 Fi, il 4243.5 2055.8
355 77 M%w%mﬁ%* 10kV 841 4 [ 57 i £k 110KV 5 75 22 F il 10911.9 2430.72
T I, T M%W?Wﬁ LRk 10kV/825H 7 1% £k 110KV 5t 76 38 Hi il 9560.9 1481.27
T I 11 mgiﬁk%gﬁ%* 10kV829 b F 7 2k 110KV 5% V5 A2 F, il 9560.9 1048.82
=2 A WJ%W%B{%E&P 10kV877 St 2k 110KV 5 B Sk A8 i 3l 8660.3 1806.04
3485 717 M%Wﬁmﬁ%* 10kV/586 1 4 7R % 2k 110KV Ik i A2 Fi, 32l 9006.7 1741.84
45§ 117 M%bﬁjﬁgﬁ%%* 10kV564 21 2 Pt 2k 110KV - FE A% Ha il 9560.9 1560.52
335 17 W%Wﬂf[g{ﬁ LRE 10kV838 [ 7K i £k 110KV SCUEAR i i 7274.6 1711.98
335 77 M%ﬁ%gﬁ%%* 10kV 84937 4 £k 110KV {3 I A2 Fi, 9560.9 1360.52
415 117 M%w%gﬁ%%* 10kV 241 1 [7](516-872) | 110kV ) [FF A% Ha v 11189 3907.2
35 717 M%ﬁjﬁgﬁ%qﬂ 10kV518 =% H7 2k 110KV £ T A2 F il 8331.2 1468.46
gty | VEIRARHRR | owvgs b | novimiig 10392.3 1204.64
355 77 M%w%mﬁ%* 10kV/855 4% i % 2k 110KV H 7 7% Ha, 3 9560.9 59.02
I, T M%ﬁjﬁgﬁ%qﬂ 10kV 594 Fiff 3= 4% 28 110KV 41§, B 32 FA, il 9006.7 1374.46
415 117 M%W%Bﬁ%* 10kV819 i A T [A] 110KV 55 V5 42 F, il 9560.9 1498.82
I T M%W?Wﬁ LRE 10kV S 20 11 | (531-873) | 110kV & [ A8 L 3k 9006.7 2938.06
31 77 B e 10kV 82618 X £; 110KV 5% 5 3% F, il 9560.9 315.32
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TR | e gt s R85 44T Rt T ekl LG FE
455 11 M%W%Bﬁ%* 10kV849 5 FH 2k 110KV FH £ 7% H, 3 9526.3 512.04
335, 77 M%W%g&%* 10kV568 [l [X. 1 [=] 110k V4§, B A2 HA, i 9560.9 898.79
I, 17 K %ﬁﬁkwﬁ L 10kV863 1t K2k 110KV FE A 2k 32 F, il 8677.6 1307.98
=2 A M%w%gﬁ%%* 10kV576 (47K 2k 110KV 41§ B A2 H, b 8331.2 240.66
335, 77 M%W?ﬁgﬁ%qﬂ 10kV 74 1t £8(595-832) 110k V4§, B AL Ha, il 9006.7 3325.36
31 77 mgiﬁk%gﬁ%* 10kV 74 % £8(591-532) 110KV I 1 A2 Fi, 32l 8660.3 1032.44
355 i M%w%mﬁ%* 10kV 84537 2= 2k 110KV {5 [T A2 Fi il 2598.1 1055.78
485 717 M%ﬁjﬁgﬁ%* 10kV & AR 4k (846-882) 110KV {3 I A2 Fi, ik 4347.4 1804.42
=2 A M%w%gﬁmp 10kV/581 4 % 2k 110KV 41§, B A2 FiL bl 5715.8 3325.44
335 77 K %W?g{t LRR 10kV862 4T fi7 2k 110KV FH A7 4% Hi, il 9560.9 998.02
485 117 M%ﬁ%gﬁﬁtp 10kV553 3 & P2k 110KV Ik i A2 Fi, il 10045.9 2964.32
355 77 K %wjﬁmﬂi LER 10kV824 5L 2k 110KV 5 75 22 F il 9560.9 2906.17
485 717 M%Wﬁgﬁi%* 10KV 514 < 34§ 1 [re] £k 110KV = i A% Hi, 8331.2 709.46
= A M%W%Bﬁ%* 10kv554 e [X. 1T [7] 110KV 41§ B 742 H, 3 5542.6 842.38
355, 77 WJ%#&%B{%E&P 10kV577 71 Ji P 447 2k 110KV 41§ B 2 H, b 8660.3 2569.41
3485 717 M%Wﬁmﬁ%* 10kV569 KA Fe i £k 110KV Ik i A2 Fi, 32l 5542.6 1754.48
=2 A M%#ﬁjﬁgﬁ%%* 10kV515 2 [iH 7: 2% 110KV = [ A% Ha, 3 9560.9 1285.82
gy | TEORARBRI | oy s osaser) ok sk sk 8660.3 269186
335 77 M%ﬁ%gﬁ%%* 10kV/566 7% 3 2k 110KV |- FE 4% Hi, il 9560.9 942.02
=2 A M%#ﬁ%gﬁ%%* 10kV845HLH, T [A] 110KV FH £ A% Ha, 3 9560.9 326.02
I, T M%ﬁjﬁgﬁ%qﬂ 10kV556 3L & £k 110KV ik i A2 F, 32l 9006.7 1418.76
355 17 M%W%Bﬁ%* 10kV57075 7K 5t 2k 110KV |- FE A% Hi il 8331.2 1550.46
=2 M%W%E&Eﬁqﬂ 10kV i 1 [F1(865-821)  [110kV A Sk A2 Hi vk 10911.9 892.02
I, T M%ﬁjﬁgﬁ%qﬂ 10kV555 4T 2% 110KV ik i A% F, il 3377.5 1000.8
35 T M%W%Bﬁ%* 10kV |- 41 2§(561-871) 110kV | FE A% i il 5542.6 3439.08
I, T M%Wﬁgﬁ%%qj 10kV 5t) " £(822-851) 110k V 35 P4 AR H 3897.1 2593.63
T34 77 FIREIROCOREE | g0 8 42 (517-881) 110KV = T 32 F, ik 2857.9 2510.42
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= A . %yﬁjﬁzmﬁ o 10kV835 [ 7K 4 £k 110KV 3T W4 A% F, il 9560.9 2781.02
4, T M%W%g&%* 10kV X%k (580-811) 110kV I A% L i 9526.3 0.04
T2 345 17 mgiﬁk%gﬁ%* 10kv b ¥4k (572-531) 110KV |- FE 4% i il 9560.9 0.02
=2 A M%ﬁ%gﬁ%%* 10kV AT H12k 877 110KV {5 [T A2 F, v 9560.9 0.02
235 717 M%W?ﬁgﬁ%qﬂ 10kVFE 2k (545-571) 110k V 3k, g A2 FE, 9560.9 0.02
485 11 mgiﬁk%gﬁ%* 10kV876 A 1F AR 1 2k 110KV {3 I A2 Fi il 9560.9 0.02
=2 A M%w%mﬁ%* 10kV574 ) Sk 2k 110kV | FE A% H il 9560.9 0.02
335, 77 M%ﬁ%gﬁ%* 10kV568 4 FH it & 110KV |- FE 4% Hi, il 10045.9 0.02
45 Tl M%W%Wﬁwp 10kVv875 i [T 2k 110kV #5 B Sk A8 R 3l 4243.5 0
335 77 M%W?Wﬁ LRR 10kV 3 [ £k(829-572) 110KV 3 14 A5 H il 11189 0
T I, T M%ﬁ%gﬁﬁtp 10k V569 F It 2k 110kV b FE 2% F il 11189 0
=2 A M%w%gﬁ%%* 10kv815+Hi it 1 [ml 110KV 5 75 22 F il 7274.6 0
T I, T M%Wﬁgﬁi%qﬂ 10kV I Pt 2§(558-831) 110kV b FE 2% i 5542.6 0
43 1l M%W%Bﬁ%* 10kV557 142k 110KV |- FE A% Ha, 3 5542.6 0
Ik T M%w%gﬁ%%* 10KV 57425 5 TH £ 110KV 5, i A2 F il 9006.7 0
43 1l M%Wﬁgﬁi%qﬂ 10kV 5844 /% 2% 110KV Ik i A2 Fi, 32l 9006.7 0
455 1 M%w%gﬁ%* 10kV519 A< 31 it £ 110KV £ [ 4% i, il 3117.7 0
I, T W%W%&Bﬁ%* 10kV 57837 i 5 11 [ml 110kV | FE A% Ha il 9006.7 0
485 117 M%W%Wﬁ%* 10kV 5 1 £k (852-561) 110KV {3 I A2 Fi, 9560.9 0
435 1 M%#ﬁ%@ﬁ%%tﬁ 10kV (539-842) HFFZk | 110kV = [T A% H bl 5542.6 0
2435 717 M%ﬁjﬁgﬁ%qﬂ 10kV536 £ 16 B 2% 110KV £ [FF 4% i, 3 3897.1 0
485 11 M%W%Bﬁ%* 10kV/585 7 2k 110KV I 1 A2 Fi, 31l 9006.7 0
435 M%w%mﬁ%* 10kV869 31 1 it £k 110KV #5 B Sk A8 B 3l 8660.3 0
3k T M%ﬁjﬁgﬁ%qﬂ 10kV [ 2k (562-852) 110kV | FE 2% L il 3897.1 0
3 1 M%W%Bﬁ%* 10kv872 % Jb 2k 110KV {5 [T A2 H, v 9560.9 0
335 77 M%Wﬁgﬁ%%qj 10kV839 HL | £k 110KV 5t 6 48 Hi, il 9560.9 0
Ik 7 I B IX A o 10KV A3 11 1] (872-822) 110k VK 1 < % FL 3y 10911.9 0
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455 11 M%W%Bﬁ%* 10kV i A 2k (544-812) 110KV I, 7 A2 F, ik 9526.3 0
415 7 M%W%B&Eﬁ* 10kV 873 i 37 i 25 110KV {5 7. A2 Hi, ik 9560.9 0
I T M%W%Wﬁ%* 10kV871 % i Zk 110KV {3 I A2 Fi, ik 9560.9 0
Ik T M%wfﬁmﬁ%* 10kV865 7k [H £k 110kV H 7 A% HA i 9526.3 0
I, 1 M%W%E&Eﬁqﬂ 10kV/556 P 4h I 2 110kV - AR H 9006.7 0
31 77 mgiﬁk%gﬁ%* 10kV520 4T /2 72k 110KV = T 32 Fi il 8331.2 0
3 T M%w%mﬁ%* 10kV579 5 VU itk AR 2k 110kV - A% L i 9560.9 0

T I, T M%ﬁ%gﬁ%* 10kV 846 fiil [ [A] 110KV FH A7 22 Fi il 9560.9 0
i, T M%ﬁ%gﬁﬁtp 10k V859 14 fii 11 [=] 110kV H 7 A% Hi 9560.9 0
T W%Wﬁmﬁ%ﬂp 10kV 858K 74 £k 110KV {2 [T A2 H, b 9560.9 0
35k T D) 552 1] LA EL N ] 10kV 86217 £k 110KV 1% % 3% i i 2598.1 2543.78
SR} WA 25 )1 5Lt v A ] 10kV 856 F I 2k 110kV 17 2§ A2 Ha vl 2598.1 2551.88
335, 77 WA I )1 it e 20 ) 10kV 879 Pff 31 2% 110KV /5 5% 38 Hi il 2598.1 928.68
T W )1 Bt v 22 ] 10kV 585 4 G £k it 110KV 2 )11 32 F, ik 9976.6 4241.98
=2 A WA 2 J11EL v 20 ) 10kV886 H R 2k 35KV AR il 10911.9 91.32
I T o s 1] it Ef 20 ) 10kV865 L X £k 110kV AL S A2 F ik 9976.6 501.18
TR T | X ] L E A 10kV/548 i %R 2% 110KV AH U5 AL Hi il 8660.3 319.54
W | R ) B A 10kV553 7% 11 2k 110KV 52 %2 38 Hi, bl 9595.6 328.78
335 77 WA I )1 Lt e A ] 10kV873 8 V] ik 1115] £& 110KV /3 1 A2 F il 9976.6 844.27
=2 A W )1 B A 2 10kv 884} T.£% 110KV /5 5% A% Ha, b 9976.6 519.08
T | R 1 B e 10kV885 ¢, 1.2k 35KV H FE AR L 9595.6 489.18
T | )1 L N 10kV875 4L 75 £k % 110kV AL 38 F vl 8729.5 1529.3
=2 WA 2 J11EL e 2 ) 10kV547 FFEIS £ 110k V AH Y5 AL i il 9457 902.3
ETT | 1 B A ] 10kV 582 41k i £k % 110KV % )1 38 Ha, il 9976.6 989.65
W | B R A L ] 10kV589 Fi | 2k 110KV 2 )11 A2 H, ik 9595.6 290.18
ETT | 1 A ] 10kV586 % 7 £k 110KV % )1 38 Hi, il 9976.6 804.58
ET | R B L ] 10kV583 3 [l #47 2& 110KV % )11 32 Fi, 9976.6 2295.18
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T | )] LA A ] 10kv873 Tk 2k 110kV 4L, A8 H v 8660.3 290.24
Wi | R Bt E A A 10kV/ 5883 71 £k % 110kV % )11 22 Ha, v 9976.6 3203.28
g | R )1 i 10kV846 17 A 2k 35KV 2% 5% AR Lk 9976.6 81.48
W | MR E A AR 10kv845Z= k2t 35kV % 5 AR HL Bk 8660.3 1425.04
TR | R 1t e A 10kV 87874 V] Jiki 1 [A] £& 110kV /3 SR 38 F b 9976.6 844.28
T | R )1 L E A 10kV587 1 % 2k % 110KV % )1 38 Fi il 6928.2 302.26
T | R ) B A 10kV 866 /)T~ 2k 110kV 4L, X 22 H v 9006.7 491.75
T | P )1 A 10kV885 3L £k 110KV /5 5% A8 Fi il 9976.6 650.08
HIRTT [ R 1L A 10kV551°F- # £k 35KV 1 I AR HL 6720.4 0.02
W | R Bt A 10kv857 11k 2k 110kV 17 %€ 22 Ha, b 8729.5 0
BT | R 2 ] 10kV546 %% 5% - 2% % 35KV P4 AR L 3k 4243.5 0
T T | 1 L E A 10kV548 T %< 2k 35KV I AR HL 9976.6 0
T | R )1 B e A 10kV 8727 2 I [m] £ 110kV 4L, 38 Hi il 9595.6 0
T T | )1 L E N 10kV549-F b2k 35KV -3 AR L 9976.6 0
T | s )1t E A 10kV 877445 B 11]m] 2% 110kV 4L, A8 H v 9595.6 0
Wb | R )1 A 10kV 86017 H1 £k 110kV 17 7€ 38 Fi il 9976.6 0
LR T | ] LA R 10kV550 HLJA L 22 110KV AH U5 AL Hi il 8660.3 0
T | )1 B A 10kv881 H 4k £k 35KV B AR HL il 9976.6 0
LR T | X ] L e 10kV844 7% 4 2% 35KV %% 5 FE AR HLuk 9976.6 0
BT | R A ] 10kV859 K F U4 2; 110kV 4% F& 4% i il 8660.3 0
LT | 0 K B H A ] 10kV554 7 A £k 110k V To A A2 Fi v 4780.5 146.7
LR T | X0 7K LA 2 10kV818 /5 - 2k 35k V ¥ [ A LBk 5802.4 519.82
T | 0 7K B A 10kVv857 F FH 2k 35kV VR AR HL B 4780.5 180
LR | E R0 K B A ] 10kV883 Fk 7 £k 110KV IR R AL H b 4780.5 493.2
H | BRI KE A A A 10kv847 ki £k 35KV PR AR HL 4312.8 768.04
TR | R0 K B L 10kV898 5 i £& 35KV AT AL HL il 8054 401.6
HhT | B G K B L A ] 10kV866 1] JEE £& 35KV ] IR AR L 8054 679.1




20255 (=FF) EREBEHEBATHABEER

TR | e gt s R85 44T Rt T ekl LG FE
WA | D K B E N ] 10kV816=F14 2k 35KV Aili £ A% F il 6581.8 325.74
WL | R0 7K Bt e N ] 10k V546 2 7 £ 110kV F AL AR L 6980.2 673.86
AR T | R0 7K B A 10kV859 H A+ £k 35kV - PR A HL 4763.1 43,98
B | B0 K S AL d 2 10kv885 H it 11 [1] 35KV H A A% L 6096.8 190.04
IR | B KB A ] 10kV 848 g I £ 110kV Z5 U AR H i 9578.2 1634.62
IR | B R K 2 A ] 10kV806 7 #h £k 35KV Aili A% FL i 6581.8 449.5
IR | E KB A A 10kV838 [if] £ £k 110KV 4 g A% HL i 7794.2 1080.65
T | E MK E A 10kV808 A 3ifi 2% 35KV Al FE A% il 7707.6 152.78
T | R0 7K B A 10kV562 45 B 1T [H1 4k | 120k V FA0 =A% HL s 8054 1464.38
AR | R0 K B A ] 10kV892 Ji5 ¥ £k 35KV A AT A% FL i 5265.4 324.02
TIETT | R0 7K L A 10kV856 VK #k £k 35kV YR A% HL 5802.4 219.02
IR | E K S A 10kV559 75 It 2k 110k V T HE AL HL il 6980.2 848.76
IR | B R K B A ] 10kV817 1] 3k £ 35KV iy [ A% L 6581.8 1161.44
IR | E R K2 A ] 10kV564 75 78 2% 110k V T 9 FE AZ HL sl 11067.8 145.74
WA | R0 7K A A 10kV5443% & 2k 110kV F AL AR L 5109.5 888
WA | R K B H A F 10kV555 F 28 2% 110k V T 9 FE AZ FL 6096.8 659.64
W | R0 7K L e N 10kV 838 iR £k 35k V ik HE A% L i 2598.1 345.18
Fi | B 0K S E A 10kV849 3% fiE £k 110KV 35 U6 75 Ha, 3 6096.8 633.34
AR | R0 7K B A 10kV843 5K V4 £k 35kV HR AR L 5802.4 330.01
WA | D K B E A ] 10kV863 35 ffi 2k 110KV ¥ 7] 4% Hi, 3l 8054 879.6
AT | R0 K B A 10kV5563 45 1 1] 110KV Fo 490 FE A% 8054 1997.37
WA | R0 K B E A ] 10kV 83672 I 2k 35KV % FE A2 F il 6581.8 945.24
AR | R0 7K B A 10kv825 T2k 35KV AR A AL F i 6096.8 454.34
e T S LG € = X R/ 10kv561 I T [A12k | 120kV FA0 A8 HE 8054 870.9
IR | E K-S A ] 10kV845 A< 4 £k 35kV HA A% L i 6980.2 227.96
WYL | R0 7K Bt N ] 10kV 846 % T £k 35KV 7 FE A% HL 4503.3 888.04
IR | E R K-S A ] 10kV528 7K % 2% 35kV ik L1 A% L 6581.8 375.94
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TR | e gt s R85 44T Rt T ekl LG FE
WA | D K B E N ] 10kV848 %< )11 2k 35KV H s A% FL il 6945.5 248.9
IR | E KB A ] 10kV 846 Ui 5 £k 110KV F5 U5 A5 HL i 9578.2 2026.31
AR T | R0 7K B A 10kV 866 %174 £k 110k VIR SR AL H 6928.2 48.66
AT | R0 7K B A 10kV863 4 1 2k 35kV A JiE A% L 6581.8 2533.34
AR | R 7K B A ] 10kV563 FffF £ 110KV Fo A0 FE A% il 8054 1540.79
IR | B R K 2 A ] 10kV 504 %+ £ 35kV 22 A% L i 5265.4 576.82
AR | WD 7K B A ] 10kV840-5513% it £k 35KV i AR L 9578.2 0
T | B Rk B A 10kV 845 U J1E 2% 110KV F5 U4 A% B 3y 9578.2 0
Em T | B0 K S AR E A 10kV804 K 7 £k 35KV Aili FE A% F il 6581.8 0
T | E MK E A 10kV849 11K £ 35KV H A A% L 6581.8 0
ET | E 0K B AL L A ] 10kV 81547 It £; 35KV Aili = A% FRL 3 9578.2 0
WA | D K B A 10kV575 41 2k 110KV ¥ 5 75 4% L il 10565.5 0
AR | R K B A ] 10kV824-509 4 i £ 35KV A A A% H 9179.9 0
FT | B0 KB AR A 10kV558 1 5t £k 110KV A0 A% H 3k 9578.2 0
T | E MK E R A 10kV872-511 1 £k 35KV ] JEE A% F i 10565.5 0
| E oK E AR 10kV813 A 111 4% 35KV iy [ A% L3 6980.2 0
I | 0 K LA E A ] 10kV511 i I 2k 35kV i 22 A% L il 5802.4 0
AT | R0 K B A 10kV 845 % 37 £& 35KV 7 FE A% L il 2598.1 0
T | K B AL L A ] 10kV 847 #14; 110kV Z5 I 7% i i 6581.8 0
WA | D K B E A ] 10kV534 7K Hi 2k 35kV ik 111 4% HL 6581.8 0
i | BRI KE A 10kv884 i 1 [1] 35KV H s A% L 6096.8 0
IR | E R K S A ] 10kV5105 1 28 35kV i 22 A% il 10565.5 0
WA | E R0 K B A A 10kVv512 17 2% 35kV i 22 A8 L il 10565.5 0
T | BRI KE A 10kV842-5293% 7k £k 35KV ¥ FE A% L il 4156.9 0
WA T | W) B ek L e 10k V84575 5 £ 35k V8 4L A% L 3117.7 332.16
T | R A A ] 10kV525 7=k 2% 35KV 4k 1 A% 9578.2 809.96
T | R BH 3 EL A A 10kV886 F* 4~ £k 110kV 7 AR H 5611.8 198.94
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TR | e gt s R85 44T Rt T ekl LG FE
LR T | ] ) B AR L A E 2 10k V574 [i] P& 2 35KV {CE AR HL 3117.7 191.76
AT | ) S L A i 10kV854 3£ fr 2k 35KV F IR AR HL I 9578.2 1186.56
LT | ) B L e 10kV889 FHiiE £k 110KV 7+ £ 38 i il 8054 2812.97
AT | ) S 2 10kV/527 34 5 2k 35KV I, 75 AR L 9578.2 767.96
AT | ) S A L it 4 10kV873 £ 157 2k 110KV 5 3k 38 Hi il 9578.2 3475.96
T T | D) B 3 LA 4 10kV518:Jb 4 4k 35kV b B AR L 4936.3 485.79
AT | R ) S 2 10kV 8161 4 2k 35KV 15 ] AR L 9578.2 56.76
TR T | ) S AR LA e A ] 10kV855 & fL2k 110kV 5 3k A8 F v 3550.7 995.56
BT | BH R L 10k 824 T B £ 110KV I J A% 3 4243.5 3262
AT | ) S 9 L i 2 10kV873 [f] 2k 110KV [#] 22 H vl 11639.4 1266.58
T AT | D) B 3 LA e 10kV924 14 I 2 35kV F RAZ HL ik 5265.4 388.22
T | ) B 2 10kV/570 H 75 2k 110KV FH 3 A% FE v 12055.1 2488.78
eI | B A A A 10kv 8647 1k 2k 35KV i b AR L 3637.3 525.94
AT | ) S A L i e 10kV575 FF A 2k 35KV {CE AR HL 2909.8 194.64
AT | ) S i i 10kV571 F b 2k 110KV H 3 A% FE v 11223.7 2537.45
AT | ) S A L it 4 10kV5455F 3k 2k 35kV b 3 AR L 4936.3 2080.64
LR T (] ) S AR L L E 2 10kV514 L4 ZE 35kV b B AR HL vk 4936.3 2339.04
AT | ) S A L i 4 10kv883 F 12 110KV I A% A vl 4208.9 1057.31
T | ) S A L e 10kV857 &5 SR £k 110kV 5 3k 38 F il 7274.6 801.98
LR T | ] ) S AR L L E 2 10kV576 2 1 & 35KV IJCE AL HL vk 3550.7 384.56
IR | R BE R v 10kV803 P £ 35KV Eil AR L 8054 2594.8
LR T | ] ) B AR L E 2 10kV/566 B £k 2k 110KV FH I8 A8 F v 9578.2 481.86
TR T | X B R L A 10kV/588 [ [t 2k 35kV [ AL HL vk 11223.7 60.86
T | R B A A A 10kV867 7 52 £k 35KV i A6 AR L 4607.3 38.64
TR T | ] X R L8 R 10kV I 5E 2K (513-911) 110kV ik Y AZ Ha 3 5629.2 2496.86
WA | R B L A A 10kV 805 4= i £& 35KV kil AR HL 3 3031.1 839.98
T T | ) H i e A 10kV5170k £ 4k 35kV b AR FL 4936.3 587.54
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TR | e gt s R85 44T Rt T ekl LG FE
T | ) B 2 10kV573 75 A 2k 35KV {CE AR HL 5196.2 709.56
W | R B A 10kV844 7 3k 2k 35KV % BH A% H 6928.2 519.96
WA | R BH I A 10k V817 f3 it £k 35KV i) A% il 6980.2 110.96
EITT | B A B L A ] 10kV887 F Y £k 110KV 7+ FEAE Ha bl 3637.3 452.74
T | B 3 B A 10kV 8717 L. 1T [A] 110KV [i] A2 i 9578.2 369.36
T | B LA L 10kV969 i — % 2k 35KV AR FE AR L il 5282.8 1261.64
AT | R ) S 2 10kv973 4L 11 [1] 35KV 7R AR HL 4936.3 984.14
AR | R BH 3 A 10kV 8197 T.4; 110KV 41§ 32 F, il 4503.3 754.44
H T | B A L ] 10kV846 3 [i] £k 35KV i AL AR HL 5819.7 93.76
AR T | R BH 3 A ] 10kV/535 P 31 2% 35KV 4k 74 A% F i 9578.2 1407.96
T | ) BH 3 LA A 10kv9e6 LA T [1] 35KV 7R AR L 9578.2 193.86
H i | B B A 10kV5964f ¥ 2% 35KV [ S AL HL 9578.2 3316.76
T | B 3 B A 10kV595 4 i 2% 35KV [ 52748 HL 9578.2 5431.46
I T | ) BH 3 LA E A ] 10kV/529 78 A 2k 35KV 45k 171G A% F, il 7014.8 828.04
AT | R BH 3 A ] 10kV 851 i £k 35KV i AL AR HL I 3637.3 745.34
T | B 3 B A 10kV 815 25 £& 35KV i) A% i 6980.2 204.76
AT | ) S e L e 10kV F-5££K(857-912) 35KV IR AR HL I 5629.2 649.96
W | R I B A 10kV856 £ W £k 110kV £ Sk A% H ki 3550.7 656.96
WAL | E R A E | 10kV IR L (866-907) 35KV V] 46 3% i 4442.7 99.96
I | ) BH I LA E N ] 10kV534 — %52k 35KV AR 3% L il 3637.3 307.04
AR | R BH 3 A ] 10kV567 % A 2k 110KV FH 4 3% Fi 8054 1644.3
T | ) B 2 10kV/586 % PH 2k 35kV I F AL HLuk 4936.3 1358.44
WA | R B A 10kV533 £33k 2k 35KV ZR 1A A8 HL 2598.1 121.78
AT | R BH 3R A 10kV814 £t Fi £ 35KV i) A% il 6980.2 17.66
H i | B R L ] 10kV933 15 i £ 35KV S ARAL HL 3550.7 147.66
AR | R BH 3 A ] 10kV903 2 % £& 35KV 2 U AR L il 5265.4 40.02
T | ) B 2 10kV/ 536 57 1 2k 35KV I, 75 AL FEL 3 8054 728
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TR | e gt s R85 44T Rt T ekl LG FE
LR T | ] ) B AR L A E 2 10kV856 2 Ji 2k 35kV = SR AR HL vk 4936.3 851.94
WA | B 3 L L A 10kV530 74 T.2k 35KV I P4 AR HL 4849.7 449.96
eI AT | ) B 3 LA H 4 10kV/ 550 X1 JE 2k 35kV b 3 AR L 8313.8 1341.84
BT | P BE R A 10kV925 7 111 2% 35kV FARAL HL il 7274.6 18.88
T AT | R B A A A 10kV i 114k 824 110KV #3542 i il 11639.4 278.12
ET | R B L ] 10kV826 T %< £k 110KV H] )5 38 i il 10911.9 12.02
AT | R ) S 2 10kV568 F Mt £k 110Kk V BH 31 22 H vl 6304.7 1556.46
AT | B A A A 10kV531 75 4% £k 35KV 4 75 AL L ik 4849.7 399.82
I | ) BH I LA E A ] 10kV834 M JlEE 2k 35KkV 7% [ AL HL vk 5819.7 855.33
AT | ) S 9 L i 2 10kV828 3 2k 110KV {315 22 H vl 8313.8 2927.44
T T | ) BH i E A 10kV894 J i £k 110KV 7+ £ 38 Fi il 12055.1 684.68
I | ) BH 3 LA F A ] 10kV523L 4= 2k 35kV b B AR HL I 7447.8 1216.04
TR T | ) BE R v 10kV 8123 1 £ 35KV Eil AR L 8054 1399.39
AT | ) S A L i e 10kV535 Sk 2k 35KV 7R {6 A8 FL 3637.3 708.34
TR T | ] ) S AR LA e 10kV532 P2k 35KV 4k PG AL HL 4312.8 450.04
IR | ) BE R i v 10kV 8471 5 £k 35KV i AL AR L 3637.3 585.94
T | ) B L A ] 10kv522:6 H 1T [=] 35kV b B AR HL vk 9578.2 1877.56
WA | B A L A 10kV518 i 4 2% 35KV 4 5 AL L il 7413.2 1263.96
T | ) S A L e 10kv972 Ik 35KV 7R AR L 3637.3 403.74
LR T | ] ) S AR L L E 2 10kV543 ] < 2% 35kV _E B AR Ll 2598.1 2223.28
WA | B A A A 10kV 965 4 B 4; 35KV 7R AR L 5819.7 1525.06
TR T (R X S AR L E 2 10kV810FH P2k 35Kk V il 22 Lok 5282.8 0.04
R 2 A EES LR R R SN 10kV825 ] 1 £ 110KV T I A% i v 5282.8 0.04
T | R B A A A 10kV865 F FE £k 35KV i A6 AR L 4503.3 0.04
TR | B e 2 ] | 10KV PEARFRZR (523-811) | 35KV I AL Hi b 8054 0
R R Al EES LR = R S 10kV539 % Hi 2k 35KV 7R 1A AR HL 7413.2 0
T T | ) H i e A 10kV594 4 £1 2% 35kV [ 547 FL 9578.2 0




20255 (=FF) EREBEHEBATHABEER

TR | e gt s R85 44T Rt T ekl LG FE
TR T (R X B AR L H 4 10kV577 I 2k 35KV JCE AR HL vk 5196.2 0
AT | ) S L A i 10kV565 1L R 2k 110Kk V BH 315 22 H vl 11223.7 0
T | B LA A 10kV 858 7t 4 £k 110KV [l [ 28 A il 9578.2 0
T | R B A A 10kV874 & K2k 110kV & Sk A% F vl 7846.2 0
ER T | R S A A 10kV868 2 3 2k 110KV B Ui A5 Fi b 4936.3 0
T | ) S A L i e 10kV8361H X1 2k 110KV #1538 Fi il 11639.4 0
R Al EES LR R R X SN 10kV584 % I 2k 35kV [ FAL HL ik 2598.1 0
AT | B A A A 10kV519 AR £k 110KV i F A8 F il 9578.2 0
H T | B A L ] 10kV856 75 - £ 110KV [ 2 A% F, vl 12055.1 0
WA | B 3 L L A 10kVv832H Hi 2k 110KV {315 22 H vl 7794.2 0
LA | ) B L i e 10kV8291H 4 £k 110KV 3 38 Fi il 5196.2 0
BT | ) BE L A ] 10kV835H] )5 £k 110KV T 5 A% A i 5265.4 0
AT | ) S 4 L it Y 10kV547 3¢ Fr 2k 35kV b B AR Lk 4936.3 0
BT | B A A ] 10kv548 FHT 2k 35kV_b A Ll 4503.3 0
WA | R I L A A 10kV8337H i 2k 110KV {55 28 F vl 3290.9 0
ER T | X R S A A 10kV/58738 S 2k 35kV I F AL HLuk 2598.1 0
EYR T (X R AR EL A R 10kv871 5 1112k 110KV i A% F vl 4936.3 0
AR | B EL i A F] [ 20kV R \IEIZE (569-501) | 110KV BH 3K AR H 8227.2 0
T AT | ) BH 3 LA H 4 ] 10kv524 46 4% 11 [=] 35kV b F AR L 11223.7 0
EIRTT (X R R EL A R 10kV 844 8 75 2k 35KV i AL AR HL 9578.2 0
AT | ) S L i 4 10kV861 T 24k 110KV [F] [ A A v 9578.2 0
LR T | ] ) B AR L E 2 10kv8627# L. T [] 110KV [i [ A% Fi v 9578.2 0
TR | X B R LA A mw§g£¥£wm- 110KV [SH 3 A% FE v 9578.2 0
I | R A A 10kV869 4= 111 £k 35KV FH AR Ll 9526.3 395.89
TR T [ X M L R 10kV897 7 Iy [T £& 110KV R A A% F, bl 9526.3 2195.84
AT | X L A ] 10kV575 T £+ £k 110kV T 45 32 Hi, il 6928.2 189.96
TR | R EE I B A ] 10kV564 | 4% £k 110kV T 4+ 32 Fi il 7274.6 1351.68
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TR | e gt s R85 44T Rt T ekl LG FE
R | X 93 M Lt B 2 10kv862 & |2k 35KV Ji A AR HL 4330.1 204.68
T | R Bt A 10kV567 K T.2k 110kV T A 42 L 5109.5 147.7
g w7 | R B A 10kV 878 % it £k 110KV ] BH A2 Fi, ik 3204.3 7.64
AT | RN L A ] 10kV563 i FE £k 110kV A A2 i il 8712.2 2265.06
IR | R B v 10kV869 1L £k 110KV {7 [T A2 i il 9820.7 246.86
TR (] R B M Lt E A 10kV 888 T A A< £k 110KV R A A8 Fi v 9526.3 1269.79
T | R L A 7 10kV552 ¥ % 2k 110KV 7 7 A2 F ki 9526.3 377.94
g | R it E A 10kV535 7% 1 £& 35kV R H AR HL vk 5196.2 135.96
g T | R M L E N 10kV574 L IT 7] 110kV T 4+ A2 H bl 3377.5 287.4
WA | R B A T 10kv862 XA 1 [H] 110kV E & 42 HL vl 9526.3 1939.24
AT | M L E N 10kV569 7 43 ¥ 2k 35KV B Jei i A7 L 9699.5 54.9
T | R N LA E A 10kV861 1% [T 4k 35KV SR AR HL 9526.3 1449.94
AT | P Lt A 10kV/568 5 £k £k 110kV I A 32 F i 8712.2 345.76
g T | R N LA E A 10kV565F% 42k 35KV e AL F i 8712.2 192.26
T | R L A 10kV 8561 [X £k 110kV E & 42 HL vl 9820.7 943.96
T | R E Bt A 10kV/570 [t < £ 110KV 75 B A2 Fi il 9820.7 1018.06
WA | R i E N 10kV874 it FH 2k 110KV B FH A% H i 8313.8 201.04
g T | R 9 ] L ik E N ] 10kV/553 78 7k £k 110KV %5 B A2 H, bl 9526.3 147.24
TR (] R B M Lt H A 10kV853 J& A £k 35KV JE] A AR Lk 6581.8 365.04
AT | R i E N 10kV860 T ir[ 2k 35KV JE A AR HL ok 4330.1 347.58
R | R Bt e N 10kV843 i [T £ 110KV {5 7. 3% Fi vy 9526.3 1459.41
g7 | R M L N 10kv854 kA& T [A] 35KV K FH AR L 9526.3 329.64
AT | R it e 10kV567 4k V4] 3t A2 24 110KV X ] A2 H v 8712.2 5.96
AT | R Bt E A 10kV861 B 71 £& 35KV & A AL FL ik 9353.1 683.97
W T | N LA A 10kV541 74 Jr 2k 35KV K FE AR L il 3117.7 344.56
WA T | R B A 10kV 7% [t 2% 863 110KV FH A7 22 i i 8712.2 887.96
LT | RN LA E A ] 10kV 8544 3k £k 35KV il SR AR L3 9526.3 3566.94
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TR | e gt s R85 44T Rt T ekl LG FE
T | R N LA B A 10kV 861 1E £k 35kV IR AR HL 8660.3 669.74
T T | M A A ] 10kV859 %= Ml 2% 35KV A R AL L il 5802.4 112.72
W T | RN LA A 10kV566 K 4 2k 110kV T 45 38 F il 6339.3 1208.14
T | R L A 7 10kV534k £k 35KV R AR HL 2598.1 583.68
EEE A EES IR R 3o S 10kV849%! J1| 2% 35KV 3 b3 AR HL o 4191.6 1996.18
EEE v ESEERE AR = 3o S S/ 10kV 844 1F: i 2K 110KV {2 7. 3% Fi v 5196.2 3557.96
T | R L A 7 10kV571 ik 2k 110KV 7 7 A2 F ki 9526.3 444.14
TR | XM LA AN 10kV539 = T.2& 110KV 2 A A2 Fi vy 2598.1 1369.16
g T | R M L E N 10kV863 7 A 2k 35KV & A AR HL 9353.1 146.68
R | R it A 10kV879 73 i 4k 110KV B H A% F v 9526.3 201.04
T | R Bt e 10kV569 [t 1t £k 110KV %5 P A2 Fi il 9820.7 26.76
T | R N LA E A 10kV563 I 12k 110kV b FE A% L il 8313.8 4269.49
T | R Bt H A 10kV556 = #R 1 [A] 110KV i #5832 Fi b 4780.5 583.5
T | RN B A E] | 10kv (833-851) JIEEZR | 110kV 1| JEEAR L vk 9526.3 3619.04
g T | R 9 M Lk E N 10kV523 7% T AT 2k 35KV HhFR AR HL i 6339.3 159.34
TR | XM LA N 10kV/551 [7tl 45 2k 110KV 75 P A2 Fi v 9179.9 154.72
R | X 95 M Lt B 2N 10kv84417 4z 1 || 110kV F £ 4% i il 5196.2 3896.13
T | R it A 10kV537 114 Jv 2% 35kV R AL Lk 6062.2 60.96
AT | R M L E N 10kV854 5 T 2% 35KV Ji A AR L 6235.4 829.32
R | X 95 M Lt R 2 ] 10kV8783 75 £k 110KV 7 A A2 i i 9526.3 329.44
T | R Bt A 10kV83277] 4 £k 110KV 3¢ A% HA, iy 9526.3 725.04
g T | R N LA E A 10kV526 1 f1 £ 2k 35KV ) HR A% il 5109.5 159.3
AT | R R 9 M Lk E N ] 10kVv882 Ff A P 2k 110KV i A+ 22 H v 9526.3 2962.78
AT | R Bt E A 10kv857 K A< 1T [A] 35kV R BHAZ HL ik 5542.6 627.48
R | X 95 M Lt R 2 10kv847 EJHE T [H] 110kV E & 4% i il 9820.7 1014.36
WA T | R B A 10kV831 A% £k 110KV 3 I AR i i 9526.3 2582.24
AT | R M L E N 10kV845 7] f: £k 110kV F 5 7% B il 9820.7 2087.16
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TR | e gt s R85 44T Rt T ekl LG FE
T | R N LA B A 10kV565 i #4 2k 110KV 41§, B A2 Fi bl 9560.9 418.02
WA | E N Bt A E | 10kV (869-582) T R4k | 110kVE &A% HL kL 9526.3 1358.43
LT | ] B A 10kV846 1 Jii i 2k 35KV b AR L 9526.3 1657.84
BT | E R EE AR A 10kV886 g 7] 75 2% 110KV F A A% FE, il 10911.9 76.12
T | R Bt E A 10kV875 7% Ll £ 110KV ] FH A2 Ha v 8660.3 384.34
TR (] R B M Lt E A 10kV8481H7iH £k 35KV 3T b5 AL L 9526.3 240.34
T | R L A 7 10kv877L i £k 110KV B A A2 L il 10392.3 247.04
g T | R 9 ] L ik E N 10kV567 £ 1 2% 35KV B Jii i A7 Ll 6807 190.2
WA | R M i E N 10kV845 % i 2k 110kV 7K b AZ FE ¥ 8712.2 676.86
AT | ] L A ] 10kV851 R Uk 2k 35KV b HEAL HL 8712.2 264.66
AT | M L E N 10kV576 1 B7 [X 2k 110KV |- FE 4% Hi, il 8816.1 951.88
g T | M L H N 10kv858 LT 2k 35KV Ji A AR HL i 9179.9 871.11
BT | R R AR A 10kV 840 FI A £k 110kV ) 1 JEEAZ H 3 8660.3 321.43
WA T | R N LA N ] 10kV8367 I 2k 110kV 7K b AZ FE ¥ 9526.3 1775.54
AT | RN L A 10kV 862 £ 4k 35KV £ A1 AL HL vk 7326.6 775.98
T | R E Bt A 10kv856 K L. II [1] 35KV K FHAZ L3 6062.2 147.66
WA | R i E N 10kV864 7 | 2k 35kV AL HL vk 10045.9 72.02
WHETT | R EEM Bt A E] | 10kV (573-852) XUEEZE | 110KV XA AR HL i 9526.3 2652.04
AT | RN LA N 10kV567 7] P £& 110KV 75 P A2 Fi v 9820.7 1018.06
R | X 95 M Lt R 2 ] 10kV566 K il k2% 35KV 1 Ji £ A2 HL o 4330.1 122.98
R | R Bt e N 10kv846%4 [ 1 [A] 110kV F 5 38 L il 9820.7 1167.33
g T | R N LA E A 10kV550 4 Y5 & 110KV 75 B A2 A il 10392.3 701.24
BT | E R EE AR A 10kV896 i FT 2k 110KV R A A2 Fi bl 9006.7 7111.46
g T | R P Lt E N ] 10kV868 7R I A 2k 110kV F 3 4% HL ¥ 9526.3 440.83
g T | R N LA E A 10kV 548 [ FE £k 110KV 77 7 A2 Hi, ki 9526.3 1726.61
WA | N B A E] | 10KV (876-581) A A4k | 110kVAE B Sk AR HE 10392.3 0.04
LT | RN LA E A ] 10kV847 H [T £k 110KV FH 47 22 F i 9526.3 0.04
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TR | e gt s R85 44T Rt T ekl LG FE
T T | M L E 2 10kV874 )2 JH 2k 110KV A Sk A8 Fe v 9526.3 0.04
AT | E M B E A E] | 10KVHTTEEL (844-851) | 35KV 5 AR HL ik 9526.3 0.04
H | M B L ] 10kV525 7k 2% 1 2% 35KV HFRLAR HL 5109.5 0
AT | E M B AT | 10kV (836-582) JIl BZE | 110kV I AR HL 6755 0
BT | M A N 10kV870 | fE /ML 110KV LA i 7621 0
EEE v ESEERE AR = 3o S S/ 10kV873 1% -2k 110KV 5 B Sk A8 R il 7326.6 0
T | P B A 10kV524 3 H 2% 35KV FRL AR HL vk 6928.2 0
IR | R B N 10kV861 | £k 110KV FH A7 22 Fi il 8712.2 0
Hygi | ] B A ] 10kVv859 %% B 1T [7] 110kV E & 4% i i 9820.7 0
IR | R i A ] 10kV/572 XL i3 2% 110KV XL A2 F il 10911.9 0
Ty | ] B i A 10kV581 -2k 110KV ] A8 F, il 8712.2 0
EIRTT (X LR R 10kV555 K 2% 2k 110KV i 8 AZ FE bl 8712.2 0
By | E MM E A A 10kV545 EL T 4% 110kV 2= i A% H i 2598.1 0
Ty | R B E A 10kV865 F17i 2k 35kV B IR AR L 5196.2 0
TR T | XM LA A 10kV833 JFf 3 2k 110kV 7K b AZ i v 9526.3 0
BT | M A N 10kV 868 3 B 2k 35KV AR AL L ik 9526.3 0
BT | P A ] 10kV859 ¥ HT % 35KV A A A8 HL il 6581.8 0
W | R EEH B A A 10kV846 #£ 1 £k 110kV 7K 4622 H v 9526.3 0
H | M B L ] 10kV844 i 11 2§ 110kV 7K 46742 Hi, il 9526.3 0
Ty | ] B A ] 10kV867 & H1 £k 110KV 5 B Sk A8 FE 3l 5542.6 0
T T | M B it E A ] 10kV553 1k S 2% 110KV 5y A AL F b 8660.3 0
T | M L F N 10kv871 E F 2k 35KV R AR HL 8660.3 0
BT | E R EE AR A 10kV864 4> %% 2% 35KV AR AL L il 5196.2 0
IR E R EM R A 10kV542 K 1 2% 110kV 2= A% H i 10149.8 0
BT (X LR R 2 ] 10kV538 4= A 2k 110kV 2 A A% i v 8140.6 0
AT | X L A ] 10kV8181# 3k 2k 110KV 5t 6 48 Hi, il 10911.9 0
HTT | M B A L ] 10kV/547 i It 2% 110KV 75 7 4% Hi b 9526.3 0
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R | im s B85 4 T U T el LG EE
W | MM E A AR 10k V866 Hil A 2k 110KV 5 1} Sk A% B il 9526.3 0
AT | P L A 10kV864 % JG. 2k 110KV FH 7 38 Hi, il 9526.3 0
Ty | R B A 10kV860 It 7T K 2k 110kV E £ 4% HL b 8712.2 0
BT | M A A ] 10kV856 7 75 2% 35KV A SR AL L il 9526.3 0
EEE T EES N RE A = 3o S 10kV/543 E2 i £ 110kV 2> 1+ 38 Fi il 2598.1 0
TR [ X M L A 10kV569 B #B 2k 110KV XA A% H b 8712.2 0
AT | P ] L i 10kV863 [E 4% 2k 35KV A SR AL L ik 6339.3 0
TR T | XM LA A 10kV568 % BEZ 110KV XA A8 F v 10392.3 0
Wi | B EEH B A A 10kV816 k14 2k 110KkV 5% 74 22 H v 2598.1 0
AT | M L A 10kV861 & K 11 [1] 110kV F 5 32 i il 11206.4 0
Ty | ] B A ] 10kV 568 [Hl £ 2k 110KV 75 P A2 Fi il 9820.7 0
BT | M A A ] 10kV857 /K 4 £k 35KV A R AL FL il 9526.3 0
E | M B L ] 10kV843 B 4 2% 110kV 7K AL A% Ha 3 8712.2 0
IR (] X LR R 10kV567 V5 1< 2k 110kV b HE A% Hi il 8313.8 0
W | E R EEH B A AT 10kV834 KSR i 2k 110kV 7K 4622 H v 8712.2 0
LT | B B A 10kV/541 % B1) 2k 110KV 75 B A2 Fi il 8816.1 0
TR | E BN EAtE A E | 10kV (561-522) FikgLk | 110kV i #RAS B 2598.1 0
BT | R R AR A 10kV843 f# £ £& 110k V) I JEEAZ F v 8660.3 0
TR T [ X3 M L R 10k V855 4 A 74 2% 35k VAT S AR HL ik 9526.3 0
T | MM E A AR 10kV/546 J% %< 2k 110kV 2 A A% i v 10045.9 0
T | R A A 10kV817 5K % £k 110KV 5% 76 38 i il 4156.9 0




